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TrigonometryExercise5 for No.9012

1
1 = arcSin(-1) .2=arcCos(1) 3= arcCos(Ej

3 (A2
Nol =|.4=arcCos(-7) .5=arcCos| _T .6 = arcSin _T

3
.7 =arcTan(0) .8 =arcTan(-1) 9= arcSin[gj

S T eseri=

| 3 . 1 M
.1 = cos| arcCos| 5 .2 = Tan| arcCos —T .3 = Sin| arcCos| ; a
1 3n 2n !
.4 = Cos| arcSin| E .5 =arcCos| Cos T .6 = arcSin| Cos| T h
NO2 = > s @
e b 5n
7= arcSin(Sin —D 8= arcCos(Cos( —D 9= arcTan(Tan(—jj M
6 4 6 U
(42 , 107 -1 T
.10 = Csc| arcSin| 7 .11 = Sec| arcSin| Cos 3 .12 = ArcSin| Cos| ArcSin| E ,
]
4 ) 2 ) -2 a
.1 = Cos| arcSin| ; .2 = Sin| arcCos 3 .3 = Sin| arcTan| ? ¢
3 1 -2 h
No3=| 4= Tan[arcCo ( D .5:Tan[ar081 [—D 6= Cot[arcCo (—D , | @
4 6
s ) s-cofwtall) s-cufun L] |2
.7 = Sec| arcSin| —— .8 =Cos| arcTan| — .9 =Csc| arcTan| ———
L 5 5 2 )] T
L/ ]
F ]
i ) 5 (-2 5 (1 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| ~ ¢
7 5 6 2
3 4 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| — , .| @
5 5
M
3n ) Sn . Tn . 4n
S= arcTan[Cos(—j + Sln[— —D 6= Cot(arcCos[ Sln(— —D + arcSln[Cos(—jD U
L 2 2 6 3 i T
L ! -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.9016

C ]
a
.1 =arcCos(0) .2 =arcSin(-2) .3 =arcSin(1) ‘
3
Nol < .4 =arcTan(0) JS= arcSin(gJ 6= arcTan(ﬂ/?) o é
3 2 2 M
7= arcSin(— LJ 8= arcCos[— £] 9= arcCos[£] U
2 2 2
T
L/ ]
I S ) (1 | 3 1 [m]
.1 = Sin| arcSin| —T .2 = Cos| arcSin 5 .3 = Sin| arcTan T a
1 . . b L m !
.4 = Tan| arcCos| ~ .5 = arcSin| Sin| — — .6 = arcCos| Sin| — h
No2 — 2 4 3 @
B o (17n 2 57 S
.7 = arcSin| Sin| .8 =arcCos| Cos| ——— .9 =arcTan| Tan| — M
6 3 6 U
‘ 137 . (43 T
0= Sec(arcTan(«/g)) .11 = Tan| arcSin| Cos 3 .12 = ArcSin| Cos| ArcSin 7 )
]
5 s a
.1 = Sec| arcTan| — T .2 = Csc| arcCos| T .3 =Cos(arcTan(-3)) ¢
h
-5 4 5
No3=| 4= Sin[arcCos(—D S= Sin(arcTan(—D 6= Cos[arcSin(— £D NN @)
9 7 9 M
2 (-5 (5 U
.7 =Tan| arcCos| = .8 = Cot| arcSin| — .9 = Tan| arcSin| —
5 6 9 T
L/ ]
Fur]
[ , 4 (2 1 (2 a
.1 = Sin| arcCos| — |+ arcSin| = .2 =Cos| arcCos| = | + arcSin| — ¢
9 7 3 7
2 1 h
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| — , .| @
5 2
M
(13®m . 17w . 17
.5 =arcTan| Cos(3 ) + Sin 2 .6 = Cot| arcCos| Sin| — p + arcSin| Cos 3 U
L - T
./ .

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

s

NQE NOER
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TrigonometryExercise5 for No.9018

C ]
2 -1 a
= arcSln(— TJ 2=arcCos(-7) 3= arcCos(;J ¢
5 5 h
Nol =| .4=arcTan| ——— | .S=arcSin| —— | .6=arcCos(0) | .|l @
3 2 M
[
7= arcCos[T] .§=arcSin(-1) .9=arcTan(1) IZJ"
L i M
[ J3 2 1 M|
.1 = Tan| arcTan T .2 = Tan| arcCos —T .3 = Cos| arcSin ; a
b T !
.4 = Sin(arcTan(-1)) .5 =arcTan| Tan| — .6 = arcCos| Sin| —— h
3
NOZ = g B @
. . K
7= arcSln(Sln[ D 8= arcCos(Cos( D 9= arcTan(Tan(— ?D M
U
1 3n . ﬁ T
.10 = Csc| arcCos 5 .11 = Cot| arcSin| Cos T .12 = ArcCos| Sin| ArcCos| — T ,
]
i 6 1 a
= Csc(arcTan(—D 2= Sec(arcSin[—D 3= Cot[arcCos( D P
5 4 5
s (-4 . V3 h
No3 =| .4 =Cos| arcSin .5 = Tan| arcSin| — .6 =Sin| arcTan| —— |||, .| @
8 9 2
M
A5 . 3 6 U
.7 =Tan| arcCos| —— .8 = Sin| arcCos| — .9 =Cos| arcTan| —
L 7 8 5 i T
L/
"]
i ) 5 (-1 1 (3 | a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
6 3 2 4
1 5 h
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| ~ , .| @
3 6
M
on (= (13= . 107
.5 =arcTan| Cos| — |+ Sin| — .6 = Csc| arcCos| Sin| + arcSin| Cos| U
L 2 2 3 J T
L/
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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.Uﬂ
.2 =arcSin| ——
2

JS= arcTan(—«\/? )

.8 =arcCos| ——
2

TrigonometryExercise5 for No.9036

.1 =arcSin(1)

=)

.7 =arcCos(0)

Nol =| 4= arcSin[—

@]J .2 = Sin( arcTan(%))

B s et 2

A= Sin[arcSin[—

4= Tan[arcCos(—

(9%}

No2 =
. 177 4n
.7 = arcSin| Sin| — T .8 = arcCos| Cos T
. S5n . .
.10 = Cot( arcTan(«/?)) Al = Sec[arcSm(Cos{TjD A2 = ArcSln(Cos(ArcSm -
[ (42 (2
.1 = Tan| arcSin| T .2 = Cos| arcSin| 7
7 2
No3 =| 4= Cot(arcTan[— gn S= Csc(arcCos[— gn
-2
.7 =Cos(arcTan(5)) 8= Tan[arcCos(7D
| . 1 (1
= Sm(arcCos[—J + arcSln[—D
2 5
. (1
No4 = 3= Sln[Z arcSm(ZD
37 ([ T=
.5 =arcTan| Cos| — |+ Sin| ——
L 2 2
No5 =Sin(2 arcSin(a)), ,
No6 = Cos(2 arcSin(a.)),
[Page = 0004]

X

.3 =arcCos(-2)

-1
9= arcCos(—J
2/]

3= Cos[ arcSin(

.6 =arcTan(0)

6= arcCos[Sin(—

9= arcTan[Tan[

1 _
3= Sec[arcSin(gD

1
2= Cos(arcCos[—j + arcSin[
2 3

1
4= 005(2 arcCos(ED

S R

-1

.6 = Sin(arcTan(-7))

2
9= Sin[arcCos(gD

)

\ﬂQi@wN&i:

17w
6

1= 27
6= Csc[arcCos( Sin(— TD + arcSin(CosL— TDJ

J
=)

M

M

a
t
h

> @E
U
T
!

~~NQSX®=-~8K

~~NCE®s~=s X
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TrigonometryExercise5 for No.9037

F ]
3 2 a
.1 =arcCos| — 7 .2=arcCos(-1) .3 =arcCos T ¢
-1 h
Nol =| .4=arcSin(1) .5 =arcTan(0) 6= arcSin(—j , .| @
M
3 3
7= arcTan(LJ 8= arcSin(LJ .9 = arcSin(-5) u
L 3 2 ] T
(. -/ -
_ ﬁ _ Cu]
.1 =Tan( arcTan(«/?)) .2 =Sin(arcTan(1)) .3 = Tan| arcSin| 7 a
. 1/; 5w (= !
.4 =Cos| arcSin| —— .5 =arcCos| Cos| —/— .6 = arcCos| Sin| — h
No2 = 2 6 6 > s @
(1= Tn Tn M
.7 =arcSin| Sin| —— .8 =arcCos| Cos| —/—/— .9 = arcTan| Tan| —
6 3 6 U
: n . 1 T
.10 =Sec(arcTan(-1)) .11 =Sec| arcSin| Cos| —? .12 = ArcCos| Sin| ArcCos| E )
e
| . -4 NENE a
.1 =Sin(arcTan(-3)) .2 = Csc| arcCos| g .3 = Tan| arcSin ; t
h
5 2 7
No3=| 4= Sec(arcSin(LD 5= Sin(arcCos(—D 6= Cot(arcTan[LD , .| @
8 3 2 M
(1 4 3 U
.7 =Cos| arcSin| ~ .8 = Tan| arcCos| ~ .9 =Cos| arcTan| —
L 4 9 5)) ] T
L/ ]
C ]
[ 5 -4 1 1 ] a
A= Sin(arcCos[‘j + arcSinL—D 2= Cos[arcCos(—j + arcSin(—D ¢
6 5 6 3
1 1 h
No4 = .3 =Sin| 2 arcSin| ~ .4 =cos| 2 arcCos| ~ , .| @
2 6 M
(15= ) Tn . 2n
.5 =arcTan| Cos(2 1) + Sin 5 .6 = Sec| arcCos| Sin| — ? + arcSin| Cos —T U
L - T
!

>

No5 = Sin(2 arcCos(a.)),

No6 = Cos(2 arcCos(a.)),

b

NOENQOER
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TrigonometryExercise5 for No.9138

Car]
1 3 a
1= arcSin(E] .2 =arcTan(0) 3= arcCos(éj P
2 !
Nol =| .4 =arcCos(0) .5 =arcSin(1) 6= arcCos[— _] @
2 M
. 3 U
.7=arcTan(-1) .8=arcSin| - T .9 =arcCos(-2) T
./ |

X

(1 | SN [m
.1 =Tan(arcTan(-1)) .2 = Cos| arcSin 5 .3 = Sin| arcCos| —T a
1 T b !
.4 =Tan| arcCos| ~ .5 =arcTan| Tan| — — .6 = arcCos| Sin| —— h
No2 = 2 6 6 @
B e 17n 57 17n S
.7 =arcSin| Sin| ———— .8 =arcCos| Cos| ——— .9 =arcTan| Tan| M
6 6 6 U
-1 ) 10w . . 4/; T
.10 = Sec| arcCos ; .11 = Cot| arcSin| Cos 3 .12 = ArcSin| Cos| ArcSin T ,
F ]
(43 'E) (5 a
.1 = Tan| arcSin T .2 = Cot| arcCos —T .3 = Csc| arcSin| g ¢
h
7 2 3
No3=| 4= Cos[arcTan[—D = Sec[arcTan[LjJ 6= Cos[arcSin —D , | @
5 5 7 M
) -5 4 ) -7 U
.7 = Sin| arcCos| — .8 = Tan| arcCos| — .9 = Sin| arcTan| —
L 9 9 4))] T
L/
]
i ) 1 (1 1 (3 a
.1 =Sin| arcCos| = |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 5 2 4
1 2 h
Nod = .3 =Sin| 2 arcCos| ~ .4 =cos| 2 arcCos| ~ R @
2 3
M
. [23m (1x ] 51
.5 = arcTan| Cos(6 1) + Sin .6 = Cot| arcCos| Sin + arcSin| Cos T Y
L - T
L ! -
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.9602

C ]
2 a
.1 =arcTan(0) .2=arcCos(1l) .3 =arcCos T ¢
3 h
Nol=| 4= arcSin[T] .5 =arcSin(-1) .6=arcSin(3) |, , @
M
3 -1 3
7= arcTan[— £J 8= arcCos[—j 9= arcSin[— LJ v
L 3 2 2 /] T
./ a

A= Sin(arcSin£—22 D 2= Tan[arcSin(—; J] .3 =Cos( arcTan(ﬂ/g ))
4= Sin[arcCos(— —2D S= arcCos{Co (S—R j 6= arcSin[Cos(ED
2 6 4
No2= 3n 5 j

w

e n 17n S
7= arcSln(Sln( jJ 8= arcCos(Cos[ ? J = arcTan(Tan[ p D
J_ 13

sl )] 11— nefscol 25))) 11~ ancof s e 2] )
ol o] oot

B

a

t

s 5 s h

No3 =| .4=Tan| arcSin .5 =Cos| arcTan| ~ .6 = Sin| arcTan , .| @
8 3 6 M

U

T

!

_.7:Tan[arcCos(— gn 8= Sln(arcCos[?D 9= Cos[arcSln(ZD |

[ 2 1 1 -1 ]
A= Sin[arcCos(—) + arcSin(—D 2= Cos[arcCos(—] + arcSin(—D
3 2 3 2
) 1 (5
No4 = 3= Sm[Z arcCos[ED 4= 005(2 arcSm[gD
. ) K . 27
.S =arcTan(Cos(3 n) + Sin(m)) .6= Csc(arcCos( Sln(— ?D + arcSm(Cos(— TDJ

No5 =Sin(2 arcCos(a)),

~NSE®=-~s ¥

l\.)|._.

~~NQRX®=~= X

T
L

b}

No6 = Cos(2 arcCos(a.)),

E)

No T NCOKX
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TrigonometryExercise5 for No.9616

Cur]
a
1 =arcCos(5) .2=arcTan(0) .3 =arcSin(1) ¢
1
Nol 4= arcTan(—«\/?) .5 =arcCos(0) 6= arcCos(Ej é
ol = R
3 2 3 M
7= arcCos(— £J 8= arcSin[— Lj 9= arcSin[Lj U
2 2 2
T
(. -/ -

_ C ]
.1 =Tan(arcTan(-1)) .2 =Cos| arcSin| g]} .3 =Sin(arcTan(1)) a
1 t
.| - . . T . T
4= Tan(arcSm(—D S= arcSm(Sm[— —D 6= arcSln[Cos(—D h
2 3 6
NO2 = > s @
Iln 37
7= arcSin(Sin(— Jj 8= arcCos(Cos( —D 9= arcTan(Tan[ jJ M
6 4 U
3 ‘ 7n ﬁ T
.10 = Csc| arcTan T .11 = Csc| arcSin| Cos T .12 = ArcCos| Sin| ArcCos, T ,
]
_ ; ;
1 = Sec| arcCos| T .2 =Cot| arcTan (g j .3 =Cos| arcSin| ~ 2 j ¢
7 1 4 h
No3=| 4= Cos(arcTan(—D 5= Tan[arcCo (—D 6= Sin(arcCos[—D , | @
2 4 9
Nl B | o
.7 =Sin| arcTan| ——— .8 =Csc| arcSin| ———— .9 = Tan| arcSin| —
L 4 7 3 T
L/ ]
Fur]
i ) 4 (3 5 (4 a
.1 = Sin| arcCos g + arcSin| E .2 = Cos| arcCos| g + arcSin| g ¢
4 2 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcCos| ~ , .| @
9 3
M
T . 37 . 137w . 4n
.5 =arcTan| Cos| — |+ Sin| — .6 = Sec| arcCos| Sin + arcSin| Cos| —/— U
L 2 2 6 3 | T
., .

No5 = Sin(2 arcCos(a.)),

>

No6 = Cos(2 arcSin(a)),

b

NQX ~NCX
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TrigonometryExercise5 for No.10152

5 _
I=arcCos(l) 2= arcSin(— g} 3= arcTan(—«/;)

3 -1 2
Nol =| 4= arcTan[gj 5= arcCos(;J 6= arcSin[gj

3
7= arcCos[T] .8 =arcCos(7) .9 =arcSin(-1)

> Tiesev ss

2 1
A= Sin[arcSin[gjj .2=Cos(arcTan(-1)) 3= Tan(arcCos[; J
T

.4 =Sin(arcTan(1)) S= arcTan(Tan( D 6= arcSin(Cos( D
11n S5n P > 5
= arcSin(Sin(— p jj 8= arcCos(Cos( ?D 9= arcTan(Tan( D

_.10 = Csc[arcSin(— @D Al = Cot[arcSm(Cos( == D A2= ArcCos(Sin(ArcCos( @D]

[ M
~ ] a
1= Tan[arcSin(ﬁD 2= Sm[arcTa (76]) 3= Sin(arcCos(@D t
h
No3=| 4= Csc(arcTan( D S= Cos[arcTan[ED 6= Cos(arcSin[ﬁD s ,| @
5 M
U
T
/

No2 =

~NQX® ==X

o) el s-sefll)

[ 4 -1 2 1
= Sin(arcCos(—J + arcSin(—D 2= Cos(arcCos(—j + arcSin(—D
7 2 5 2
1 1
No4 = 3= Sin[Z arcSin(ng 4= COS(Z arcSin(ED

) (13®m . 107w
.S =arcTan(Cos(2 n) + Sin(-5w)) .6= Cot[arcCos(Sm[ p: D + arcSln(Cos[ 3 JD

-Nc E: @9 =~ ~ E:

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

b

NQE NOE
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TrigonometryExercise5 for No.11738

I 3

2
A= arcCos(— TJ 2= arcSin(— g} .3 =arcTan(0)
3
4 =arcCos(-1) .5 =arcCos T 6= arcCos(«/?) .

7= arcSin[@j 8= arcTan(«/; )

Nol =

.9 =arcSin(0)

~NCE@® s g

X

/3 IR
.1 =Tan( arcTan(«/;)) .2 = Sin| arcCos T .3 =Cos(arcTan(-1)) a
-1 2n !
.4 = Tan| arcSin| ; .5 =arcCos| Cos .6 = arcSin| Cos| —— h
N02 = 11 n > s @
7= arcSin(Sin(— p D 8= arcCos(Cos( D 9= arcTan(Tan( jj M
U
/3 I /2 T
.10 = Sec| arcTan| T .11 = Sec| arcCos| Sin p .12 = ArcSin| Cos| ArcSin| — T ,
]
. 3 -1 (A2 a
.1 = Sin| arcCos —T .2 = Tan| arcCos| ; .3 = Tan| arcSin T ¢
I3 1 h
No3=|  4=Csc(arcTan(1)) S = Cos[arcTan[— TJJ 6= Sin(arcTan(ZD . | @
M
(-3 (3 3 U
.7 = Sec| arcSin| — .8 = Cos| arcSin| = .9 = Cot| arcCos| =
7 7 7)) | T
L/
C ]
i ) 1 (-1 4 (3 a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 2 5 4
3 2 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| — A @
4 5
M
T . 3n . Sn . 117
.5 =arcTan| Cos| — |+ Sin| ——— .6 = Csc| arcCos| Sin| —— | | + arcSin| Cos U
L 2 2 6 3 | T
L / -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.11754

o7Ta
a
I =arcSin(-5) 2= arcTan(«/;) .3 =arcTan(0) ¢
(43 3 )
NoJ — 4=arcCos(0) .5= arcSln[ 5 J 6= arcCos[— 5 ] e
. 42 1 M
.7=arcSin(1l) .8 =arcSin| — T .9 = arcCos 5 U
T
L -/ .
[ (A2 | BT[]
.1 =Tan(arcTan(-1)) .2 = Cos| arcSin| _T .3 =Sin{ arcTan| — T a
«/E 3w L !
.4 = Tan| arcCos| — T .5 = arcCos| Cos T .6 = arcCos| Sin E h
No2 = > s @
. 137 Sn 17
.7 =arcSin| Sin| — —— .8 =arcCos| Cos| ——— .9 =arcTan| Tan| — M
6 6 U
. _ ﬁ T
.10 = Sec( arcTan(«/?)) .11 = Sec| arcSin| Cos| — 3 .12 = ArcCos| Sin| ArcCos| T ,

L —

_-1 ) Csc(arcTan[‘ «/2_ D 2= Cos[arcTan(zSJj 3= Cot(arcSinGD

5
No3 = 4= Sin(arcTa ( ] 5= Sm(arcCo j 6= Tan(arcSin(— gj]

N
) secemslZ) el 2]

[ 4 -1 3 1
A= Sin(arcCos[—J + arcSin[—D 2= Cos(arcCos[—J + arcSin(—D
5 2 8 5
. (3 2
No4 = 3= Sm[2 arcSm[;D 4= cos[Z arcCos(;D
(5= (13=m . b
JS= arcTan(Cos(Q )+ Sln(TD 6= Cot(arcCos{Sm[ p D + arcSm(Cos(— EDJ

No5 =Sin(2 arcCos(a)),

| wn

Ol W

7= Sec[arcCos(

T
L

~NQX®=~28 ¥

T
L

b}

No6 = Cos(2 arcSin(a.)),

b

NQEK NCX
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TrigonometryExercise5 for No.11841

“|§|I\~JQ§®=-& <

N—

—
|
1
|

- 5 )T
A= arcCos(%J .2=arcTan(0) 3= arcSin(%J
| 3
Nol =| 4=arcSin(0) .5 =arcCos(-1) .6 = arcCos| —T ,

2
7= arcTan(—«\/;) 8= arcSin[— g] .9 =arcSin(7)

[ 1
= Sin[arcSin[ D 2= Tan(arcSm[; ] 3= Sin[arcCos[—
4= Cos(arcSln( D 5= arcTan(Tan(— D 6= arcSin(Cos(

No2= 177 1
.7 = arcSin| Sin| .8 = arcCos| Cos —; .9 =arcTan| Tan p

T
0= Cot(arcCos(g j Al = Tan(arcCos( Sin( j J 2= ArcCos(Sin(ArcCo

M

| - /s “

.1 =Tan arcSm .2 = Cot| arcSin| ; .3 = Tan| arcCos T ¢

h

) 5 -1 7

No3 = .4=COS(31‘CSIII(—_]] S= Cos(arcTan(—jJ .6:Csc(arcTan(—D , .| @
2 6 M

U

T

/

a wla

— o |a
2 ~—
~——

/q\

~ N QRO ~5 K

2

el et s-seene 2]

[ 5 5 3 -1
= Sin(arcCos(—J + arcSin(—D 2= Cos(arcCos(—j + arcSin(—D
8 8 5 2
2 1
No4 = 3= Sin(Z arcSin(ED 4= cos[2 arcCos[EjJ
5n (5m . Tn . 2n
S= arcTan[Cos(Tj + Sln[TD 6= Cot(arcCos[ Sln(— ?D + arcSln[Cos(— TJD

-NC E: @9 =~ ~ E:

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

b

NQE NOE
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TrigonometryExercise5 for No.11842

1 =arcCos(-1) .2 =arcSin(1) .3 =arcTan(0)
1
4= arcSin(—J = arcTan(—«\/; ) .6 =arcCos(5)
Nol = 2

2 3 3
7= arcCos[— g] 8= arcCos[%] 9= arcSin(— g}

.1 =Tan( arcTan(ﬁ ) .2 =Cos( arcTan( 1)) .3 =Sin( arcTan(—«\/; ))

)
J2 n
.4 =Tan| arcSin T .5 =arcTan| Tan| — .6 = arcCos| Sin| — Z
No2 = . . 11n 17n > s
.7 = arcSin| Sin p .8 =arcCos| Cos| — .9 = arcTan| Tan| — p
3 . (43
.10 = Sec| arcCos| —T 1= Csc arcCos| Sin| — .12 = ArcSin| Cos| ArcSin T

'.\\]Q§®§NQ§:

—_

~NQX® =~ K

e .zzTan(mcos[_Ln ol

M

a

t

| 3 s !

No3=| 4= Sln[arcTan[—D .5 =Cos| arcTan v .6=Sec(arcTan(4)) || | @
M

U

T

/

W | = | N

=)}

3
1 -5
7= Sin(arcCos(gD 8= Tan(arcSin[—ID 9= Cot[arcSin(zD

[ 5 4 1 2
= Sin(arcCosE—J + arcSinE—D 2= Cos(arcCos(—j + arcSin(—D
7 7 3 3
1 3
No4 = 3= Sin(Z arcCos(ED 4= 005(2 arcSin(gD
3n (3= ([ 17x . n
.5 =arcTan| Cos 7 + Sin| 7 .6 = Cot| arcCos| Sin| p + arcSin| Cos| —g

M

No5 =Sin(2 arcSin(a)), ,| U
T

M

No6 = Cos(2 arcCos(a)), ,| U

T
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TrigonometryExercise5 for No.11901

Fa]
a
. «/; (-1 . t
.l =arcSin| —— .2 =arcSin| — .3 =arcSin(0)
2 2 h
Nol = 2 2| | @
4=arcCos(3) 5= arcCos(— gj 6= arcCos(g] M
.7=arcCos(1) .§=arcTan(-1) .9 =arcTan(0) I]{
(. -/ -
[ 1 )l [ M]
.1 = Sin| arcSin E .2 =Cos(arcTan(-1)) .3 =Sin( arcTan(~\/;)) a
(-1 Sn N t
.4 = Tan| arcSin ; .5 =arcCos| Cos T .6 = arcCos| Sin| g h
No2 = (. (13= 7n 11= - | @
.7 = arcSin| Sin .8 =arcCos| Cos| —— .9 = arcTan| Tan| M
6 3 6 U
. ﬁ . e . 1/5 T
.10 = Csc| arcSin 7 .11 =Cot| arcSin| Cos —? .12 = ArcCos| Sin| ArcCos| T .
]
el (5 1 a
.1 =Cos| arcTan| T .2 = Cot| arcSin| 5 .3 =Tan| arcCos g ¢
h
6 , (5
No3 =| .4 = Csc| arcCos| —— .5 =Sin(arcTan(5)) .6 = Tan| arcSin| — . .| @
11 j_ M
-1 3 3
7= Sec(arcTan(—D 8= Sin(arcCosl—D 9= Cos[arcSin(— —D v
L 6 5 7 )/] T
L / .
]
i ) 4 (-4 3 (1 a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
9 5 7 2
4 5 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| — , L@
9 6
M
(23= . 137 . Sn
.5 =arcTan| Cos(6 ) + Sin .6 = Sec| arcCos| Sin| — p + arcSin| Cos| — ? U
L - T
L ! .
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
0014]
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TrigonometryExercise5 for No.11947

X

C ]
a
1/5 (-] t
I =arcCos| ——— | .2=arcCos(l) .3 =arcSin| —
2 2 h
Nol = ﬁ . 1 ﬁ > s @
.4 = arcCos T .5 = arcSin| 5 .6 =arcTan T M
.7 =arcSin(2) .§=arcTan(0) .9 =arcSin(-1) lZ{
L -/ -
_ 3 - C ]
.1 =Tan( arcTan(ﬁ)) .2=Cos(arcTan(-1)) .3 =Tan| arcCos| T a
3 !
. T (m
4= Sm(arcTan[TD 5= arcTan(Tan(ZD 6= arcCos(Sm ZD h
NOZ = > B @
(1= Sn 13n
.7 =arcSin| Sinf —— .8 =arcCos| Cos| — .9 =arcTan| Tan M
6 3 6 U
-1 ) T ) '\/E T
.10 = Csc| arcCos Z .11 = Cot| arcSin| Cos| —; .12 = ArcCos| Sin| ArcCos| T ,
Ca]
N (2 I3 a
.1 =Tan| arcCos ; .2 =Cos| arcSin g .3 =Csc| arcCos| —? ¢
h
I3 ‘ 4 3
No3 =| .4 =Cos| arcTan| ——— .5 =Sin| arcTan| — .6 = Cot| arcTan| — , .| @
5 5 i;_ M
3 3 7
7= Sec[arcSin(—D 8= Sin[arcCos(—D 9= Tan(arcSin[— —D U
8 7 12 )/ T
(. ~/ -
C ]
| . 1 (1 4 (2 T a
.1 = Sin| arcCos| — |+ arcSin| ~ .2 =Cos| arcCos| — | + arcSin| — ¢
2 2 9 5
3 3 h
No4 = 3= Sin[Z arcSin[—D 4= 005(2 arcSin[—D ., L] @
7 7 M
(1= ) K ) 41
.5 =arcTan| Cos(8 ) + Sin| .6 = Sec| arcCos| Sin| —? + arcSin| Cos T U
L - T
L/ ]
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.11989

o
1 3 a
A= arcSin(Ej .2 =arcSin(1) 3= arcCos(%J ¢
-1 h
Nol =| 4= arcSin[;j 5=arcCos(-1) 6=arcSin(-5) | .| @
M
3 3
7= arcTan(«/;) 8= arcCos[— g] 9= arcTan[— g] (]{
L/ ]
_ 3 5 . C ]
A= Tan[arcTan(%D .2 = Sin( arcTan(—«\/g ) 3= Tan(arcCosL— QD a
3 t
. s s
4= Cos(arcSl [—D S= arcCos(Cos(?D 6= arcCos(Sm[ ;D h
No2 = > s @
11 4n 137
7= arcSin(Sin(— J 8= arcCos(Cos( jj 9= arcTan(Tan(— D M
3 6 U
2 171 . J2 T
.10 = Cot| arcCos| T Al = Csc arcCos| Sin p .12 = ArcSin| Cos| ArcSin| T ,
_ M_
5 J5 a
.1 =Cot arcSln P .2 = Sin| arcTan| z .3 = Sec| arcCos| — T ¢
5 2 2 h
No3=| 4= Cos[arcTan[—D 5= Cos(arcSin[—D 6= Sin[arcCos(—D , .| @
3 5 3 M
4 (3 U
.7 =Csc| arcTan .8 =Tan| arcCos| = .9 = Tan| arcSin| =
L 5 7 5 T
(S ~/ -
]
i ) 1 (-5 2 (3 ] a
.1 = Sin| arcCos g + arcSin| g .2 =Cos| arcCos| g + arcSin g ¢
4 1 h
No4 = 3= Sin(Z arcCos[—D 4= 005(2 arcSin[—D , .| @
5 2
M
) ) T ) 27
.5 =arcTan(Cos(3 n) + Sin(2 w)) .6 = Sec| arcCos| Sin| —7 + arcSin| Cos| — T u
L - T
L /]
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.11996

C ]
-1 3 a
A= arcCos(?] 2=arcTan(1) .3= arcSin[— g] ¢
h
3 2
Nol=| 4= arcTan[— £J S =arcCos(0) .6= arcCos[Lj , | @
3 2 M
. (1 U
.7 =arcSin( 1) .8 =arcCos(7) .9 = arcSin 5 r
L i M
[ 3 V2 (1 M|
.1 = Tan| arcTan| — T .2 = Tan| arcCos —T .3 = Cos| arcSin| 5 a
b T !
.4 =Sin(arcTan(1)) .5 =arcTan| Tan| — — .6 = arcCos| Sin| —— h
No2 = 6 6 @
B o (17= On 1371 S
.7 = arcSin| Sin| .8 = arcCos| Cos .9=arcTan| Tan| - —— M
6 6 U
(-1 . S5n «/? T
.10 = Cot| arcSin ? .11 = Tan| arcSin| Cos| — ? .12 = ArcSin| Cos| ArcSin 7 ,
F ]
5 o A3 (=2 a
.1 = Cos| arcTan ; .2 = Sec| arcSin| — T .3 = Cos| arcSin| ; ¢
h
4 3 4
No3=| 4= Sin(arcCos[—Jj S= Tan[arcCos( LD 6= Tan(arcSin(—D , .| @
5 ﬁ 9 M
-2 3 -3
7= Csc( arcCosE—D 8= Sin( arcTan(—D 9= Cot( arcTan(—D u
L 3 7 4))] T
L/
Fur]
[ , 4 (-2 3 (2 ) a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
5 3 7 3
3 1 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| ~ , .| @
7 2
M
Tn [ 7n . 137 . LU
.5 =arcTan| Cos| — |+ Sin| —— .6 = Csc| arcCos| Sin| — + arcSin| Cos| — U
L 2 2 6 3 | T
L / .
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.12889

C ]
a
.1 =arcCos(7) 2= arcTan(ﬂ/;) .3 =arcSin(0) ¢
(42 1 h
Nol = .4 =arcCos(-1) S= arcSm[ 5 j 6= arcCos[zj e
3 A2 -1 M
.7=arcTan| —/— | .8=arcSin|———| .9=arcCos| U
3 2 2
T
L -/ -
[ 2 -1 M|
.1 = cos| arcCos| —T .2 = Sin| arcCos ; .3 =Cos(arcTan(-1)) a
1/_ t
. 3 b . T
4= Tan[arcSm(— —D 5= arcCos(Cos(—D 6= arcCos(Sm(— —D h
No2 = 2 4 4 > s @
. (1= b 137 M
.7 = arcSin| Sin| —— .8 = arcCos| Cos| —— .9 = arcTan| Tan|
6 6 6 U
(13= . (1 T
.10 =Cot(arcTan(1)) .11 = Csc| arcCos| Sin| p .12 = ArcSin| Cos| ArcSin| 5 )
]
[ 1 -1 2)) | a
A= Sec[arcCos(—D 2= Sin(arcCos[—D 3= Tan(arcSin[—D ¢
4 6 7
h
-1 5
No3 =|.4=Cot( arcTan(«/; ) 5= Sin[arcTan(7D 6= Cos[arcSin(%D , .| @
M
4/; (4 U
.7=Cos(arcTan(3)) .8=Tan| arcCos| — T .9 = Csc| arcSin| g r
L ] M
F ]
[ 1 1 2 -5 | a
A= Sin(arcCos(—J + arcSin(—D 2= Cos(arcCos(—] + arcSinL—D ¢
6 2 5 6
2 5 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| — , .| @
5 9 M
) Sn (5m ) 4n
.5 =arcTan| Cos(2 ) + Sin —T .6 = Csc| arcCos| Sin ? + arcSin| Cos T U
L - T
L ! .
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.12890
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4=
No2 =
No3 =
=
No4 =
= 0019]

I 3
A= Tan(arcTan[— LD 2= Cos[arcSin[—
b
7= arcSin(Sin( p

M

3 3 1 a

A= arcTan[— £J 2= arcCos[— £j 3= arcSin(—j ¢

3 2 2

-1 h

Nol=| 4= arcSin(;] .5 =arcSin(1) G=arcTan(l) |, ,| @
M

3
7= arcSin(«/?) 8= arcCos[Tj .9 =arcCos(-1) LZ{
!

2

8l
)

6= arcCos( Sin(

1
9= arcTan(Tan[

E] N|§|

el
)

JS= arcTan(Tan(—

Iln

6
1

8= arcCos(Cos[ 6

3
.10 = Sec( arcTan(«/;)) Al = Sec[arcCos( Sin( 13’6n Dj A2 = ArcSin[Cos[ArcSin(@D

= arcTan[Cos(Z& )+ Sin[—

~———
L

5 1
Sin(arcCos{‘j + arcSinE—D
8 2

3 -1

2= Cos{arcCos(—j + arcSin(—D
7 2
2

3= Sin(2 arcSin(gD

2
4= cos(Z arcCos(gD

17 .
) D 6= Csc(arcCos[Sm(

M

No5 =Sin(2 arcCos(a)), ,| U
T

M

No6 =Cos(2 arcSin(a)), ,| U

T

J
)

o))l 1)

)

Ne—

~NQX®=~2 X

~NQX®>~13 X

~NCE®F~5 K
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TrigonometryExercise5 for No.12891

3

3
A= arcSin[LJ 2= arcCos[—
2 2

Nol =

.7 =arcCos(1)

1
A= Sin[arcSin(—D
2

-1
8= arcSin[

2= Cos[arcSin[—

—] .3 =arcSin(-1)

3
4 =arcSin(-3) 5= arcTan(— g}

6= arcTan(«/; )

1
9= arcCos(—J
2) ]

|§|I\~JQ§®=-&§:

3= Tan(arcSin[

~~NCX®= -8 K

2 j
b
.4 =Sin(arcTan(1)) S= arcCos(Cos[TD 6= arcCosLSin(— ZD
No2 = . Tn 4n 3=
.7 = arcSin| Sin| —? .8 = arcCos| Cos T .9 = arcTan| Tan| p
/2 (5 . (42
.10 = Cot| arcCos| T .11 = Csc| arcCos| Sin ? .12 = ArcSin| Cos| ArcSin 7
F ]
7 (2 , 3 a
.1 =Cos| arcTan| g .2 = Cos| arcSin| ; .3 = Sin| arcCos —T ¢
h
2 -1 7
No3=| 4= Csc[arcSin[LD 5= Tan(arcSin[—D 6= Sec(arcTan(— LD , .| @
7 4 5 M
3 -3 ) -4 U
.7 =Cot| arcCos| = .8 = Tan| arcCos| — .9 =Sin| arcTan| —
L 5 4 7 T
L/
[ ) 5 (-5 3 (3
A= SlnlarcCos(—j + arcSm(—D 2= Cos(arcCosE—] + arcSmE—D
7 7 7 4
. 5 3
No4 = 3= Sln(2 arcCos[gD 4= cos[2 arcCos[;jJ
Tn . K ) 11n . 2n
.S =arcTan| Cos| — |+ Sin| — —— .6 = Csc| arcCos| Sin| — + arcSin| Cos| ————
L 2 2 6 3 i
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.12917

X

M
- ﬁ - ;
A= arcTan(—«\/;) .2 =arcCos| — 7 .3 =arcSin(0) ¢
h
3 2
Nol=| 4= arcTan(LJ S =arcCos(1) 6= arcSin(LJ . | @
3 2 M
(-1 1 U
.7 =arcSin| .8 =arcCos(2) .9 =arcCos| ~
L 2 2) ] T
L/ ]
[ 3 3 M
A= cos[arcCos[— g]) .2 =Cos( arcTan(«/;)) 3= Sin[arcTan[%D a
1 b L !
.4 =Tan| arcSin| ~ .5 =arcTan| Tan| — .6 = arcCos| Sin[ —— h
No2 = 2 4 6 @
B o Iz 4n lln S
.7 =arcSin| Sin| ——— .8 =arcCos| Cos| —//— .9 = arcTan| Tan M
6 3 6 U
3
Sn
.10 = Sec( arcTan(—«\/?)) Al = Sec(arcCos[Sin(— ? D A2 = ArcSin[Cos(ArcSin(TDJ ];
]
[ (2 (-4 , 5)) | a
.1 =Tan| arcSin| ~ .2 = Sec| arcSin| — .3 = Sin| arcCos| — P
5 9 6
h
-5 5 5
No3=|.4= Cos[arcTan[gD 5= Tan(arcCos{%D 6= Cos(arcSin(— %D , .| @
M
1 ‘ s U
.7 = Csc| arcCos| g .8 = Sin| arcTan| — T .9 = Cot(arcTan(6)) T
L/ ]
]
[ , 5 (1 4 (-1 a
.1 = Sin| arcCos| — |+ arcSin| = .2 = Cos| arcCos| ~ | + arcSin| — ¢
8 2 9 2
3 1 h
No4 = .3 =Sin| 2 arcCos| = .4 =cos| 2 arcCos| ~ , .| @
5 5
M
. . Tn . 107
.S =arcTan(Cos(2 n) + Sin(-5 1)) .6 = Csc| arcCos| Sin| —? + arcSin| Cos 3 U
- - T
L ! .
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.13099

C ]
_ ﬁ - ;
.l =arcCos(7) .2=arcCos| — 7 3= arcTan(«/;) ¢
-1 1 h
Nol =| .4=arcSin(1) 5= arcSin(—] 6= arcSin(—j , .| @
2 2
M
3 U
.7 =arcCos T .8 =arcTan(-1) .9 =arcCos(-1) T
! ]
_ | 3 | - o
.1 =Tan(arcTan(1)) .2 =Sin| arcTan| ——— .3 = Tan| arcSin| 5

3
.4 =Cos( arcTan(«/;)) S= arcCos[Co (T]
137 T
7= arcSin[Sin( D 8= arcCos(Cos( —j
6 4
s 117
.10 = Sec| arcSin —T .11 = Sec| arcCos| Sin| — p

= - _
4 6
No3=| 4= Csc[arcSin[ D .5=Cos arcSln[;Jj 6= Cos(arcTan(gD
&
’ 7

No2 =

»—-ul;‘
N
a —

| e
)

9= arcTan(Tan[—

‘_
~\~1Q§;@¥~&§

|§I
N—
N—
;/

6
2= ArcCos( Sin(ArcCos(

\_/ — ~
1

~NCE®=~ag Y

[ 1 2 1 2
= Sin(arcCos[‘j + arcSinL—D 2= Cos(arcCosE—j + arcSin(—D
4 3 3 3
4 4
No4 = 3= Sin(Z arcSin(;D 4= 005(2 arcCos[gD
. Tn [ 7n ) K
S= arcTan[Cos(S )+ Sln[— TD 6= Csc(arcCos[Sm(?D + arcSln[Cos[TDj

-N § @S > = R E

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

s

NQE NQE
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TrigonometryExercise5 for No.13100

Fa]
2 a
1= arcSin(«/;) 2= arcTan(«/;) .3 =arcCos T ¢
2 !
Nol =| .4=arcTan(0) 5= arcCos(— —] .6=arcCos(0) |, .|l @
2 M
(A3 4 (1 U
.7 =arcSin| ———— .8 =arcSin(-1) .9 = arcSin| ©
L 2 2) ] T
(. -/ -
2

o (A2 (42 |
.1 = Sin| arcSin| T .2 = Cos| arcSin| _T .3 =Sin| arcCos| —
J2 n , n
.4 =Tan| arcCos| ——— .5 = arcSin| Sin| — E .6 = arcSin| Cos| E
. Sn 107 1
7 = arcSin| Sin| — ? .8 = arcCos| Cos .9 =arcTan| Tan| —
1
0= Csc[arcSin(T .11 =Tan| arcSm(Co D 2= ArcCosESin(ArcCo (?Dj

i 4 4
= Sec(arcSin[;D 2= Sin(arcCos[;J
3
No3 =|.4 = Csc| arcTan| T .5 =Tan arcCos
(3
7= Tan(arcSln[ZD 8= Cos(arcSm[

No2 =

~NQSX®=-~28 K

/ AEVS)
4>.|.:!

l\.) \’|J>.
N—
N—

Il N

Il

Q

o

w2
7~ N\

&

=

le]

=

=
N\
N —
e
N—

)

e
Q
o
—
VR
o
5
o
(@)
o
172]
7~ N\
=
Ne—
L

M
a
t
h
@
M
U
T
!

M
i ) 1 (-1 1 (1 i a
.1 =Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| ¢
2 5 5 3
2 2 h
No4 = 3= Sin[Z arcSin[—D 4= 005(2 arcCos(—D , .| @
5 3 M
Trn (7= ) Tr ) 27
.5 =arcTan| Cos| — |+ Sin| —— .6 = Sec| arcCos| Sin| ——— | | + arcSin| Cos| — —— U
L 2 2 6 3 i T
(S ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.13139

C ]
a
.I =arcTan(-1) 2= arcTan(«/;) .3 =arcCos(0) ¢
(42 2 | )
Nol = 4= arcSln( 5 ] S= arcCos[— 5 J .6 =arcSin(-1) e
3 3 M
7= arcSin[— g] 8= arcCos(gJ 9= arcSin(«/?) U
T
L -/ -

[

_ 3 _
A= Tan[arcTan[— gD 2= Cos[arcTan[ J
1
4= Sin(arcCos(—D = arcSm(Sm( jj 6= arcCos(Sl ( D
No2 = 2 6
B o (7= 137 S
7= arcSln(Sln[?D = arcCos(Cos( D 9= arcTan(Tan( p jj
/2 A .
.10 = Csc| arcCos 7 .11 = Sec| arcSin| Cos| .12 = ArcCos| Sin| ArcCos| —

) B Sec[arcsm(% Jj 2= Sm[arcTan[— @D 3= cOs[arcTan[j_h ]
No3=|.4= Cot(arcTan(%D 5= Csc[arcCosE/%_)j 6= Tan(arcCos( 43 D
7= Sin(arcCosE%D 8= Tan(arcSin[TD 9= Cos arcSm( ;D |

D 3= Tan(arcSin[
2
T

;]Wlﬁww

~NCE®F~5 K

W

|M|%|
-\HQ§®@~Q§H—/

M
[ 3 -1 1 2 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 = Cos| arcCos| — | + arcSin| = ¢
4 2 4 3
2 3 h
No4 = .3 =Sin| 2 arcCos| ~ .4 =cos| 2 arcCos| = , .| @
3 5
M
. In S 1l= ) 137
.5 =arcTan| Cos(8 m) + Sin —T .6 = Csc| arcCos| Sin p + arcSin| Cos 3 Y
L - T
L ! .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U

T
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TrigonometryExercise5 for No.13411
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